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QUESTION ONE:

) 13
Nada Company bought a new equipment on October 1, 2015. Relevant -

information is given below:

Cost price BD16000
Insurance cost BD1400
Installation expense BD600
Salvage value BD1500
Useful life 5 years

Note: the financial period ending 31* December.

Required: By using the Straight Line Method, compute the following:

A- The Acquisition Cost.

B- The Depreciation Expense for year 2015.

C- The Accumulated Depreciation for year 2016.

D- Prepare the journal entry for year 2015.

GENERAL JOURNAL

Date

Explanation

Debit
(BD)

Credit
(BD)
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QUESTION TWO:

(Sl 3053 ) t_uadl

Rana Company bought a new car on January 1, 2013. Relevant information

is given below:

Cost price BD8000
Insurance expense BD500

Scrap value BD1000
Useful life 5 years

Required: By using the Double Declining Method:
(A) Calculate the rate of depreciation.

(B) Complete the following depreciation table:

Year

Calculation

Expense

Depreciation

Accumulated
Depreciation

Net Book
Value

2013

2014

2015

2016

2017

UESTION THREE:

(A) The following balances were extracted from the books of Ahmed Company
on 31% December, 2013 (BD):

Net Sales 5600 | Cost of purchases 3000

Salaries Expense 2700 | Cost of goods sold 2850

Dividends Revenue 400 | Fright in 500

Commission Revenue 500 | Fright out 300
Required:

From the above balances, calculate the following:
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1 | Gross Profit

2 | Total Revenue

3 | Total Operating Expenses

4 | Net profit

(B) Complete the items of the following partial Income Statement:

For the year ended 31 December, 2012

Al-Noor Company
Partial Income Statement

Cost of goods sold:

Opening Inventory

4500

Purchases

7400

Less: Purchases Discount

1300

Add:

Carriage in

200

Cost of goods available for sale

Less:

5000

Cost of goods sold

"End of Exam Question"

Good Luck
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QUESTION ONE: ;

-

H Choose the correct answer:

1. The account Freight Out is shown on the income statement as a:
i a. Component of the cost of goods sold.

b. Deduction from sales.

c. Operating expenses

d. Expenses on purchases.

2. The amount of insurance on purchases is shown in as to purchases:
a. a balance sheet, addition.
b. a balance sheet, deduction.
¢. an income statement, addition.
d. an income statement, deduction.

3. If the cost price of a machine is BD1800, insurance expense BD200, import tax on
this machine BD300, salvage value BD400. The Acquisition cost of this machine
is:

a. BD1800
b. BD2300
c. BD2100
d. BD1900

4. Gross Profit =

a. Net Sales — Ending Inventory

b. Net Sales — Cost of goods available for sale
¢. Net Sales — Cost of goods sold

d. Net Sales — Operating Expenses
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‘! QUESTION TWO: L

! Anwar Company acquire a delivery truck on lst January 2010, at a cost of “
BD16000. The truck is expected to have a salvage value of BD4000 at the end of
its 4th year useful life.

5'_.:-_1__-_-,_.-. ¥

Required:
(A) Calculate the depreciation expense using the Straight Line Method using the
depreciation schedule.

-

S50l e P
R R, L e Pt T

: : Depreciation | Accumulated Val
, Year Calculation Expense Depreciation Net Book Value
' 2010
!
,:‘ 2011
] 2012
it
! 2013
I;l‘- (B) Prepare the journal entry for the first and second year.
1
! General Journal
If Date Details Debit Credit
(BD) (BD)
; 2010
'}
: 4
8
i 4
‘4 2011
H
1
!Z
|
i
E
i
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". QUESTION THREE;
; The following balances were extracted from the books of SEA Est. on 3lst
December 2010: n
BD BD
Gross Sales 92.000 | Purchases : 7.500 |
! Sales return 2,000 | Purchases discount ? 1.300 |
Transportation in 2,200 | Beginning inventory .i 8.400
Sales Discount 4,300 | Gain on sale of Machine ! 1.500 |
A Interest revenue 1,000 | Ending inventory . 4.000 |
: Total operating expenses 9,900 =
Required:
i Prepare the Income Statement for the period ended 31 December, 2010.

Income Statement

------------------------------------------

"End of Exam Questions"
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Choose the correct answer for each of the following questions: “

" QUESTION ONE:

1) If Straight Line Method depreciation rate is 15%, the Double Declining Balance
rate is:

a) 30%
b) 15%
c) 20%
d) 45%

2) All the following are operating expenses except:

a).Insurance on Purchases
b) Rent Expense

c) Carriage out

d) Salaries Expense

3) If cost pﬁce of a machine is BD1,000, Insurance BD100, Freight cost BD50,
useful life is 4 years, the acquisition cost for the machine equal:

a) BD1,150
b) BD287.500
¢) BD1,100
d) BD1,050

4) Net Profit=

a) Net Sales — Cost of goods sold

b) Gross Sales — Cost of purchases

¢) Net Sales — Ending Inventory

d) Total Revenue — Operating Expenses
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QUESTION TWO:
Sara Company purchased a machine on 1% January, 2012. Relevant information is
given below:
Cost price BD5,000
Taxes BD300
Salvage value BD1,000
Useful life S years
Required:
(A) Calculate the depreciation expense using the Straight Line Method using the
depréciation schedule.
Year Caleulation Oepreciation; | Aecumulated | o by viziie
. Expense Depreciation
2012
2013
2014
2015
2016

"(B) Prepare the journal entry for the first year.

General Journal
Date Details Debit Credit
(BD) (BD)
AR A e B o, e S8 e e iR e i & L s e e S L —
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QUESTION THREE:
The following balances were extracted from the books of Sara Company:
Accounts BD Accounts BD
Gross Sales 400,000 | Salaries Expense 5,000
Purchases Discount 100 | Gross Purchases 100,000
Electricity Expense 50 | Sales Returns 200 |
Freight in 150 | Ending Inventory 800
Opening Inventory 1,200 | Rent Revenue 300
Required:

Prepare the Income Statement for the period ended 31% December, 2012,

®
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End of Exam

i ——




